

A COMPACT GENERALIZATION OF WALSH'S TWO-CIRCLE THEOREMS FOR POLYNOMIALS AND RATIONAL FUNCTIONS

ABDUL AZIZ AND NISAR AHMAD

Post-Graduate Department of Mathematics, University of Kashmir,
Srinagar 190 006

(Received 20 March 1995; accepted 7 March 1996)

Let $P(z)$ and $Q(z)$ be two polynomials of degree n and m respectively with prescribed zeros. In this paper we study the distribution of the zeros of the polynomial $P'(z)Q(z) + \beta P(z)Q'(z)$, where β is any given complex number and thereby present a compact generalization of Walsh's two-circle theorem for polynomials and rational functions. As an application we shall present a generalization of a mean value theorem for polynomials.

If $P(z)$ is a polynomial of degree n having all its zeros in the circle $C_1 : |z - c_1| \leq r_1$ and $Q(z)$ is a polynomial of degree m having all its zeros in the circle $C_2 : |z - c_2| \leq r_2$, then according to Walsh's two-circle theorem (Marden², p. 89; Pólya and Szegő³, p.57) all the zeros of the polynomial

$$F(z) = P'(z)Q(z) + \beta P(z)Q'(z)$$

lie in C_1, C_2 and a third circle

$$C : \left| z - \frac{nc_2 + mc_1}{n+m} \right| \leq \frac{nr_2 + mr_1}{n+m}.$$

In the literature (for example see Marden² and Pólya and Szegő³) there exist some implicit extensions of Walsh's two-circle theorem. In this paper we shall study the distribution of the zeros of the polynomial

$$F(z) = P'(z)Q(z) + \beta P(z)Q'(z)$$

for any given complex number β and thereby present an explicit compact generalization of Walsh's two-circle theorems for polynomials and rational functions. As an application we shall also present a generalization of a mean-value theorem for polynomials. We prove :

Theorem 1 — If the locus of the zeros of a polynomial $P(z)$ of degree n is the closed interior of the circle C_1 with centre c_1 and radius r_1 and the locus of the zeros of a polynomial $Q(z)$ of degree m is the closed interior of a circle C_2 with

centre c_2 and radius r_2 , then for every non-zero complex number $\beta \neq -n/m$, the locus of the zeros of the polynomial

$$F(z) = P'(z) Q(z) + \beta P(z) Q'(z)$$

consists of the closed interiors of C_1 if $n > 1$, of C_2 if $m > 1$ and a third circle C with centre c and radius r where

$$c = \frac{nc_2 + \beta mc_1}{n + \beta m} \text{ and } r = \frac{nr_2 + |\beta| mr_1}{|n + \beta m|}.$$

Under these hypothesis if $\beta = -n/m$ and if the closed interiors of C_1 and C_2 have no point in common, then these two circles contain all the zeros of $F(z)$.

For the proof of Theorem 1, we need the following result, which is the coincidence theorem of Walsh⁴ (see also Aziz¹).

Lemma — Let $G(z_1, z_2, \dots, z_n)$ be a symmetric n -linear form of total degree n in z_1, z_2, \dots, z_n and let K be a circle containing the n points w_1, w_2, \dots, w_n . Then there exists at least one point α belonging to K such that

$$G(\alpha, \alpha, \dots, \alpha) = G(w_1, w_2, \dots, w_n).$$

PROOF OF THEOREM 1 : If w is any zero of $F(z)$, then

$$F(w) = P'(w) Q(w) + \beta P(w) Q'(w) = 0. \tag{1}$$

This is an equation which is linear and symmetric in the zeros of $P(z)$ and in the zeros of $Q(z)$. By the above lemma, w will also satisfy the equation obtained by substituting into eqn. (1)

$$P(z) = (z - \alpha_1)^n \text{ and } Q(z) = (z - \alpha_2)^m$$

where α_1 is a suitably chosen point in C_1 and α_2 is a suitably chosen point in C_2 . That is, w satisfies the equation

$$n(w - \alpha_1)^{n-1} (w - \alpha_2)^m + \beta m (w - \alpha_1)^n (w - \alpha_2)^{m-1} = 0.$$

Equivalently

$$(w - \alpha_1)^{n-1} (w - \alpha_2)^{m-1} ((n + \beta m)w - (n\alpha_2 + \beta m\alpha_1)) = 0. \tag{2}$$

First suppose that $\beta = -n/m$ and that the circles C_1 and C_2 have no point in common, then clearly $\alpha_1 \neq \alpha_2$ and so that $n\alpha_2 + \beta m\alpha_1 \neq 0$. Hence from (2) we get

$$w = \alpha_1, \text{ if } n > 1 \text{ or } w = \alpha_2, \text{ if } m > 1.$$

Since α_1 is a point in C_1 , α_2 is a point in C_2 and w is an arbitrary zero of $F(z)$, it follows that, in this case the two circles C_1 and C_2 contain all the zeros of $F(z)$.

Henceforth we assume that $\beta \neq -n/m$, so that $F(z)$ is a polynomial of degree $n + m - 1$. Now from (2), it follows that w has the values

$w = \alpha_1$, if $n > 1$; $w = \alpha_2$, if $m > 1$;

$$w = \frac{n\alpha_2 + \beta m\alpha_1}{n + \beta m}.$$

Clearly the first w is a point in C_1 and the second w is a point in C_2 . That the third w is a point in the circle

$$C : \left| z - \frac{nc_2 + \beta mc_1}{n + \beta m} \right| \leq \frac{nr_2 + |\beta| mr_1}{|n + \beta m|},$$

follows from the fact that

$$\begin{aligned} \left| \frac{n\alpha_2 + \beta m\alpha_1}{n + \beta m} - \frac{nc_2 + \beta mc_1}{n + \beta m} \right| &= \left| \frac{n(\alpha_2 - c_2) + \beta m(\alpha_1 - c_1)}{n + \beta m} \right| \\ &\leq \frac{n|\alpha_2 - c_2| + |\beta| m|\alpha_1 - c_1|}{|n + \beta m|} \\ &\leq \frac{nr_2 + |\beta| mr_1}{|n + \beta m|}. \end{aligned}$$

Since w is an arbitrary zero of $F(z)$, it follows that every zero of $F(z)$ lies in at least one of the circles C_1 , C_2 and C .

Conversely we now show that any point w in or on the circles C_1 , C_2 or C is a possible zero of $F(z)$. For, we may take $P(z) = (z - \alpha_1)^n$ and $Q(z) = (z - \alpha_2)^m$ and choose α_1 and α_2 as follows. If $n > 1$ and if w lies C_1 , we choose $\alpha_1 = w$ and α_2 as an arbitrary point in C_2 . Similarly, if $m > 1$ and w lies in C_2 , we choose $\alpha_2 = w$ and α_1 as an arbitrary point in C_1 . If, however, w is any point in or on C , then we may write

$$\begin{aligned} w &= c + \alpha e^{i\theta} \\ &= \frac{n}{n + \beta m} c_2 + \frac{\beta m}{n + \beta m} c_1 + \alpha e^{i\theta} \left\{ \frac{nr_2}{|n + \beta m|} + \frac{|\beta| mr_1}{|n + \beta m|} \right\}, \end{aligned}$$

$0 \leq \alpha \leq 1$, and associate with this w

$$\alpha_1 = c_1 + \alpha \left| \frac{\beta}{n + \beta m} \right| \frac{(n + \beta m)}{\beta} r_1 e^{i\theta}$$

$$\alpha_2 = c_2 + \alpha \frac{(n + \beta m)}{|n + \beta m|} r_2 e^{i\theta},$$

then $|\alpha_1 - c_1| \leq r_1$ and $|\alpha_2 - c_2| \leq r_2$, so that α_1 is a point in C_1 , α_2 is a point in C_2 and

$$w = c + \alpha e^{i\theta} = \frac{n\alpha_2}{n + \beta m} + \frac{\beta m\alpha_1}{n + \beta m}.$$

This completes the proof of Theorem 1.

Remark : For $\beta = 1$, Theorem 1 reduces to Walsh's two-circles theorem for polynomials (Marden², p. 89). For $\beta = -1$, Theorem 1 reduces to Walsh's two-circle theorem for rational functions (Marden², p. 93), since in this case the zeros of $F(z) = P'(z)Q(z) - P(z)Q'(z)$ are the same as the finite zeros of the derivative of the quotient $P(z)/Q(z)$.

The following corollary follows from Theorem 1, by taking $\beta = n/m$.

Corollary — If all the zeros of a polynomial $P(z)$ of degree n lie in the circle $C_1 : |z - c_1| \leq r_1$ and if all the zeros of a polynomial $Q(z)$ of degree m lie in the circle $C_2 : |z - c_2| \leq r_2$, then the zeros of the polynomial

$$F(z) = mP'(z)Q(z) + nP(z)Q'(z)$$

which are not in C_1 or C_2 lie in the third circle

$$C : \left| z - \frac{c_1 + c_2}{2} \right| \leq \frac{r_1 + r_2}{2}.$$

If we set in Theorem 1

$$P(z) = \prod_{j=1}^p (z - z_j)^{m_j}, \quad \sum_{j=1}^p m_j = n,$$

$$Q(z) = \prod_{j=1}^q (z - w_j)^{t_j}, \quad \sum_{j=1}^q t_j = m,$$

then

$$\frac{P'(z)}{P(z)} = \sum_{j=1}^p \frac{m_j}{z - z_j} \quad \text{and} \quad \frac{Q'(z)}{Q(z)} = \sum_{j=1}^q \frac{t_j}{z - w_j}.$$

Since

$$\begin{aligned} \frac{F(z)}{P(z)Q(z)} &= \frac{P'(z)}{P(z)} + \beta \frac{Q'(z)}{Q(z)} \\ &= \sum_{j=1}^p \frac{m_j}{z - z_j} + \beta \sum_{j=1}^q \frac{t_j}{z - w_j} = G(z), \text{ (say),} \end{aligned}$$

where m_j, t_j are positive integers and

$$\sum_{j=1}^p m_j = n, \quad \sum_{j=1}^q t_j = m \quad \dots (3)$$

therefore, the finite zeros of $G(z)$ are the same as the zeros of $F(z)$. Thus Theorem 1 may be considered as a result concerning the finite zeros of the rational function

$$G(z) = \sum_{j=1}^p \frac{m_j}{z - z_j} + \beta \sum_{j=1}^q \frac{t_j}{z - w_j} \quad \dots (4)$$

in which all $z_j \in C_1$, all $w_j \in C_2$, m_j, t_j are positive integers satisfying (3) and $\beta \neq -n/m$ is any given non-zero complex number.

As an application of this result, we shall deduce the following theorem which is a generalization of a mean-value theorem for polynomials.

Theorem 2 — Let the circle C_1 with centre c_1 and radius r_1 enclose all the points in which a p th degree polynomial $P(z)$ assumes the value A and let the circle C_2 with centre c_2 and radius r_2 enclose all the points in which $P(z)$ assumes the value B . Then, if n, m are arbitrary positive numbers and $\beta \neq -n/m$ is any given non-zero complex number, the circles C_1 and C_2 and a third circle C with centre $c = (nc_1 + \beta mc_2)/(n + \beta m)$ and radius $r = (nr_1 + |\beta| mr_2)/(n + \beta m)$ contain all the points at which $P(z)$ assumes the value $M = (nA + \beta mB)/(n + \beta m)$.

For $\beta = 1$, this reduces to a mean-value theorem for polynomials (Marden², p. 91).

PROOF OF THEOREM 2 : We denote by z_1, z_2, \dots, z_p , the points where $P(z) = A$ and by w_1, w_2, \dots, w_p , the points where $P(z) = B$. Then we have

$$P(z) - A = \prod_{j=1}^p (z - z_j) \text{ and } P(z) - B = \prod_{j=1}^p (z - w_j),$$

where $z_j \in C_1$ and $w_j \in C_2$ for all $j = 1, 2, \dots, p$. This implies

$$\frac{P'(z)}{P(z) - A} = \sum_{j=1}^p \frac{1}{z - z_j} \text{ and } \frac{P'(z)}{P(z) - B} = \sum_{j=1}^p \frac{1}{z - w_j}. \quad \dots (5)$$

If w denotes any point where $P(z) = M$, then

$$(n + \beta m)P(w) = nA + \beta mB.$$

That is

$$n(P(w) - A) + \beta m(P(w) - B) = 0.$$

Hence

$$\frac{nP'(w)}{P(w) - B} + \frac{\beta mP'(w)}{P(w) - A} = 0.$$

This gives with the help of (5)

$$\sum_{j=1}^p \frac{1}{w - w_j} + \frac{m\beta}{n} \sum_{j=1}^p \frac{1}{w - z_j} = 0.$$

Now applying the above result concerning the finite zeros of the rational function $G(z)$ defined by (4), with z_j replaced by w_j , w_j replaced by z_j , $m_j = 1 = t_j$, $q = p$ and β replaced by $m\beta/n$, it follows that w must lie in at least one of the circles C_1, C_2 and

$$\left| z - \frac{pc_1 + (m\beta/n)pc_2}{p + (m\beta/n)p} \right| \leq \frac{pr_1 + |m\beta/n|pr_2}{|p + (m\beta/n)p|} \quad \dots (6)$$

where $(m\beta/n) = -1$. That is w must lie in at least one of the circles C_1, C_2 and

$$\left| z - \frac{nc_1 + \beta mc_2}{n + \beta m} \right| \leq \frac{nr_1 + |\beta|mr_2}{|n + \beta m|}$$

which is the circle C . This completes the proof of Theorem 2.

REFERENCES

1. A. Aziz, *Pacific J. Math.* **118** (1985), 17-26.
2. M. Marden, *Geometry of Polynomials*, 2nd ed., Mathematical Surveys No. 3, Amer. Math. Soc., Providence, R.I., 1966.
3. G. Pólya and G. Szegő, *Problems and Theorems in Analysis*, Vol. II (trans. by C. E. Billigheimer), Springer-Verlag, Berlin, New York, 1976.
4. J. L. Walsh, *Trans. Am. Math. Soc.* **24** (1922), 163-80.